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General guidance to Additional Assessment Materials for use in 2021
Context
· Additional Assessment Materials are being produced for GCSE, AS and A levels (with the exception of Art and Design).
· The Additional Assessment materials presented in this booklet are an optional part of the range of evidence you may use when deciding on a candidate’s grade.
· 2021 Additional Assessment Materials have been drawn from previous examination materials, namely past papers. 
· Additional Assessment Materials have come from past papers both published (those materials available publicly) and unpublished (those currently under padlock to our centres) presented in a different format to allow you to adapt them to use with your candidates.
Purpose
· The purpose of this resource to provide qualification-specific sets/groups of questions covering the knowledge, skills and understanding relevant to this Pearson qualification. 
· This document should be used in conjunction with the mapping guidance which will map content and/or skills covered within each set of questions. The mapping guidance will also highlight where the question originally came from to allow you to access further support materials (mark schemes, examiner reports).
· Use of these assessment materials will assist you in assessing candidates’ current performance in areas not assessed elsewhere. Their use will also provide an extra opportunity for candidates to demonstrate their performance at the end of their course of study.
· Specific guidance relating to this selection of material for this subject is detailed below. 
· These materials are only intended to support the summer 2021 series. 






1. [image: ][image: ](a) What is meant by efficiency?							(2)
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________


(b) What is meant by capacity utilisation?						(2)
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
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2. What is meant by productivity?							(2)
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

[image: ][image: ]
3. What is meant by flow production?							(2)
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________



4. [image: ][image: ](a) What is meant by stock?								(2)
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________


(b) Assess two likely disadvantages to Brantano Ltd of relying on buffer stock to supply its shops.									(8)
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________










5. [image: ][image: ](a) What is meant by capital intensive?						(2)
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

(b) Assess the extent to which lean production methods may allow Willie’s Cacao Ltd to gain a competitive advantage.						(10)
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The Posh Pasty Company’s factory has a maximum output of 34,200 pasties per year. 
6. (a) Using the data in Extract A, calculate the total number of pasties produced by The Posh Pasty Company in 2015. You are advised to show your working.
											(4)
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

(b) Assess two likely benefits to The Posh Pasty Company of using batch production to manufacture its pasties.						(8)
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
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7. (a) What is meant by productivity?							(2)
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________



(b) What is meant by quality assurance?						(2)
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

(c) Explain how the use of waste minimisation in its new factory might affect Burberry plc.										(4)
____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
____________________________________________________________________________________
____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
____________________________________________________________________________________

(d) Assess two likely impacts on Burberry plc from holding limited amounts of stock in its new factory. 								(8)
____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
____________________________________________________________________________________
____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
____________________________________________________________________________________
____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
____________________________________________________________________________________
____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
____________________________________________________________________________________
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8. Assess whether a Just in Time (JIT) stock management system is likely to benefit a clothing retailer such as SuperGroup Plc.						(10)



To maintain its competitive advantage in the premium sports car market, McLaren Ltd could increase its use of lean production methods or make the company more market orientated. 
9. Evaluate these two options and recommend which option McLaren should use to maintain its competitive advantage.						(20)
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Answer

Mark

Knowledge 1, Apj

Quantitative skills assessed:

QS2: calculate, use and understand percentages and percentage
changes.

Knowledge: 1 mark for identifying the capacity utilisation
formula.

« Current output/ maximum possible output x 100

Application: up to 3 marks
« Re-order formula to calculate current output

= maximum possible output x capacity utilisation
34200 x 0.92

1 464 pasties

NB: if the answer given is ‘31 464’ award 4 marks.
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Answer Mark

Knowledge 2
Knowledge/understanding: up to 2 marks for, e.g.

« This is where output of the firm is made primarily using
machinery/capital goods (1) relative to the use of labour (1).

)
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Answer

Mark

Knowledge 2
Knowledge/understanding: up to 2 marks for, e.g.

« Current output as a proportion/percentage (1) of maximum
possible output (1).

NB: If candidates provide the correct formula award 2 marks.
E.g. (current output/maximum possible output) x 100

)
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Level

Mark

Descriptor

A completely inaccurate response.

Level 1

1-2

Isolated elements of knowledge and understanding - recall
based.

Weak or no relevant application to business examples.
Generic assertions may be presented.

Level 2

3-5

Accurate knowledge and understanding.
Applied accurately to the business and its context.

Chains of reasoning are presented, showing cause(s) and/or
effect(s) but may be assertions or incomplete.

An attempt at an assessment is presented that is unbalanced,
and unlikely to show the significance of competing arguments.

Level 3

Accurate and thorough knowledge and understanding,
supported throughout by relevant and effective use of the
business behaviour/context.

Logical chains of reasoning, showing cause(s) and/or effect(s).
Assessment is balanced, well contextualised, using
quantitative and/or qualitative information, and shows an
awareness of competing arguments/factors leading to a
supported judgement.
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Answer

Mark

Knowledge 2
Knowledge/understanding: up to 2 marks for, e.g.
« A system where the product is checked/tested (1) at each
stage of the production process (1).

NB: If candidates mix up quality assurance with quality control
award zero marks.

()
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Answer

Mark

Knowledge 2

Knowledge/understanding: up to 2 marks for, e.g.

« The ability to minimise waste (1) therefore reducing the cost
of production (1).

NB: Also award ‘where production occurs at minimum
unit/average total cost’ or ‘output per person per hour is
maximised".

)
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Indicative content

Mark

Knowledge 2, Application 2, Analysis 2, Evaluation 2

« Batch production involves the manufacture of a limited
number of identical products.

« This allows for greater productivity/efficiency compared to
job production which reduces the average costs of
manufacturing a pasty.

« Less capital will be required to set up a batch production
process compared to a flow production process therefore
they will have to raise less capital from crowd funding.

« Production of pasties is flexible so different
quantities/flavours etc. can be produced allowing them to
meet different sized orders from cafes.

Potential counterbalance:

« Could lead to Posh Pasties Ltd having to hold large stocks of
raw materials such as flour and meat for the different variety
of pasties.

« Less efficient than flow production so average costs will be
higher than they could be which will reduce the profit per
pasty.

« Could lead to worker demotivation compared to job
production because they are only involved in one part of the
pasty production process.

(8)





image2e.png
Indicative content Mark

Knowledge 2, Application 2, Analysis 2, Evaluation 2

« Buffer stock is the minimum level of stock that is held in reserve
to protect against surges in demand or late delivery by suppliers.

« The footwear market is dynamic and seasonal. So even if
Brantano hold buffer stock it could consist of winter shoes, such
as boots, which will not sell well in the spring/summer.

« Even though Brantano hold £20 250 000 of stock, this has to cover
arange of different styles and sizes across its 73 stores.
Therefore, stores may start to run out of popular brands and sizes
of shoe.

Potential counterbalance
« Holding buffer stocks means that Brantano will have stocks of
Sketchers shoes that it can still sell even if suppliers refuse to
deliver stock.
« Brantano hold £20 250 000 of stock so this should be more than
enough for its 73 stores and should allow it to keep trading in the | (8)
short-term without running out of brands and sizes etc.
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Indicative content

Mark

Knowledge 2, Application 2, Analysis 2, Evaluation 2

« Stock can take the form of raw materials, work in progress
and finished products.

« Reduction in storage costs for fabric and trench coats which
will reduce total fixed costs.

« Reduction in opportunity costs since capital tied up in clothes
can be reduced.

« The clothing industry is dynamic so there is less chance of
being left with last season’s clothes which can quickly go out
of fashion.

Potential counterbalance:

« If Burberry plc releases a range of clothes which are popular
they may not be able to keep up with demand which may
damage its brand image.

« If there is a problem in the supply chain and deliveries of
fabric are delayed, Burberry plc will not be able to
manufacture trench coats.

« More orders of fabric will have to be placed which will reduce
the benefits of bulk buying.
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Indicative content

Mark

Knowledge 4, Application 4, Analysis 6, Evaluation 6
Lean Production Method:

« By using fewer resources to produce the cars, McClaren Ltd
can maximise the profit on each car sold and generate more
profit per car. This profit can be retained into the company to
fund new engine design etc. which will allow it to gain a
competitive advantage.

« Lean production will result in fewer defective sports cars,
allowing the reliability and the performance of the cars to
exceed consumer expectations. This could enhance McClaren
Ltd’s brand image at the expense of its rivals.

« Market orientation can be expensive to carry out and it will be
difficult to find out enough information about sports car
consumers to satisfy every potential consumer’s needs and
wants.

Market Orientation:

« The business focuses on the needs and wants of the
customers to become more competitive.

« Market orientation will enhance the brand name of McClaren
Ltd since they are giving sports car consumers precisely what
they want. This means demand for the cars may become price
inelastic. Therefore McClaren Ltd can charge a premium for its
cars allowing them to maximise their profit margin.

« Market orientation will allow McClaren Ltd to meet customer
needs more effectively than other luxury car brands, such as
Ferrari. This will allow them to grow its market share at the
expense of their rivals, leading to higher revenues.

« Lean production may be difficult to achieve and using fewer
resources to produce the sports cars could have a negative
impact on quality. Wealthy consumers could end up switching
to a different brand of luxury sports car e.g. Porsche.

Potential recommendation:

« McClaren Ltd should focus on market orientation, since in the
luxury car market the consumer will demand the highest level
of quality and expect the car to meet their every need.
Therefore, if market orientation is not maintained, competitive
advantage could significantly decrease.

« McClaren Ltd should focus on lean production because
minimising the average cost of producing its cars will allow
the profit margin to be increased. Since the volume of sales of
£1m cars is low (niche market) it is critical to McClaren Ltd's

(20) |
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Level

Descriptor

A completely inaccurate response.

Level 1

Isolated elements of knowledge and understanding - recall
based.

Weak or no relevant application to business examples.
Generic assertions may be presented.

Level 2

3-4

Elements of knowledge and understanding, which are applied
to the business example.

Chains of reasoning are presented, but may be assertions or
incomplete.

A generic o superficial assessment is presented.

Level 3

5-6

Accurate and thorough knowledge and understanding,
supported throughout by relevant and effective use of the
business behaviour/context.

Analytical perspectives are presented, with developed chains
of reasoning, showing cause(s) and/or effect(s).

An attempt at an assessment is presented, using quantitative
and/or qualitative information, though unlikely to show the

significance of competing arguments.

Level 4

7-10

Accurate and thorough knowledge and understanding,
supported throughout by relevant and effective use of the
business behaviour/context.

A coherent and logical chain of reasoning, showing cause(s)
and/or effect(s).

Assessment is balanced, wide ranging and well
contextualised, using quantitative and/or qualitative
information, and shows an awareness of competing
arguments/factors, leading to a supported judgement.
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Level

Mark

Descriptor

A completely inaccurate response.

Level 1

1-4

Isolated elements of knowledge and understanding.

Weak or no relevant application of business examples.

An argument may be attempted, but will be generic and fail to
connect causes and/or consequences.

Level 2

Elements of knowledge and understanding, which are applied
to the business example.

Arguments and chains of reasoning are presented, but
connections between causes and/or consequences are
incomplete. Attempts to address the question.

A comparison or judgement may be attempted, but it will not
successfully show an awareness of the key features of
business behaviour or business situation.

Level 3

9-14

‘Accurate and thorough knowledge and understanding,
supported throughout by relevant and effective use of the
business behaviour/context.

Uses developed chains of reasoning, so that causes and/or
consequences are complete, showing an understanding of the
question.

Arguments are well developed.

Quantitative and/or qualitative information is introduced in an
attempt to support judgements, a partial awareness of the
validity and/or significance of competing arguments and may
lead to a conclusion.

Level 4

15-20

Accurate and thorough knowledge and understanding,
supported throughout by relevant and effective use of the
business behaviour/context.

Uses well-developed and logical, coherent chains of reasoning,
showing a range of cause(s) and/or effect(s). Arguments are
fully developed.

Quantitative and/or qualitative information is/are used well to
support judgements. A full awareness of the validity and
significance of competing arguments/factors, leading to
balanced comparisons, judgements and an effective conclusion
that proposes a solution and/or recommendations.
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Indicative content

Mark

Knowledge 2, Applical

n 2, Analysis 3, Evaluation 3

« Just in time (JIT) involves holding no buffer stocks with
supplies arriving just before they are required by stores.

« JIT will reduce stock holding and SuperGroup Plc
currently have £77.8 million tied up in stocks of clothes.

« It removes obsolete stock of unfashionable clothes which
is important in a dynamic fashion industry otherwise they
may need to be discounted in a sale.

« Costs of stockholding are reduced because SuperGroup
Plc need less warehouse space in Burton on Trent.
Therefore fixed costs are reduced allowing the
profitability of SuperGroup Plc to increase.

Potential counterbalance

« Loss of purchasing economies of scale for items such as
jeans, therefore average costs will rise which may reduce
profit margins.

« It may be difficult for SuperGroup Pic to deal with sharp
increases in demand if one item of clothing such as
beachwear quickly becomes fashionable in hot weather.
Therefore their brand image may be tarnished resulting in
less customer loyalty.

Potential judgement
« The success of JIT ultimately depends on clothing suppliers

being able to meet their commitments to SuperGroup Plc at
their Burton on Trent warehouse.

(0
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Answer Mark

Knowledge 2

Knowledge/understanding: up to 2 marks for, e.g.

« The manufacture of an item/product (1) in a continuously moving
process (1). @
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Answer Mark

Knowledge 2
Knowledge/understanding: up to 2 marks for, e.g.
« Output per person/machine (1) per hour/time period (1).

NB: If candidates mix up production with productivity award zero
marks. 2
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Level

Mark

Descriptor

A completely inaccurate response.

Level 1

1-2

Isolated elements of knowledge and understanding - recall
based.

Weak or no relevant application to business examples.
Generic assertions may be presented.

Level 2

3-5

Accurate knowledge and understanding.
Applied accurately to the business and its context.

Chains of reasoning are presented, showing cause(s) and/or
effect(s) but may be assertions or incomplete.

An attempt at an assessment is presented that is unbalanced,
and unlikely to show the significance of competing arguments.

Level 3

6-8

Accurate and thorough knowledge and understanding,
supported throughout by relevant and effective use of the
business behaviour/context.

Logical chains of reasoning, showing cause(s) and/or effect(s).
Assessment is balanced, well contextualised, using
quantitative and/or qualitative information, and shows an
awareness of competing arguments/factors leading to a
supported judgement.
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competitive advantage that the profit margin is maximised.
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Indicative content

Mark

Knowledge 2, Application 2, Analysis 3, Evaluation 3

« Lean production involves using as few resources as
possible in the production of a good or service. It can
include concepts such as waste minimisation, Just in
Time (JIT) and TQM.

« Lean production may reduce excessive stocks of cocoa
and chocolate which may have a short shelf life.

« This may reduce waste which allows the profit margin on
a50g, £1.90 bar of chocolate to be maximised.

« This may allow the business to maximise the profitability
which enables larger retained profits. This provides a
source of finance which could be used by Willie to expand
the company further.

Potential counterbalance:

« Since the chocolate is targeted at high-end retailers, the
need to minimise average costs is not critical to the
competitive advantage of the company.

« Lean production could be counter-productive if it diminishes
the quality of the chocolate, since this is Willie's Cacao Ltd's
primary USP.

Potential judgement:

« Price is not a critical factor in gaining a competitive
advantage especially as Willie's Cacao Ltd chocolate is a
premium product targeting high-end retailers whose
customers tend to be more concerned with quality than
price.

« Lean production is less important in allowing Willie's Cacao
Ltd to gain a competitive advantage because if he wanted to
minimise costs he would have purchased newer machinery,
which should be more efficient.

« The importance of lean production is ultimately dependent on
whether average costs can be reduced without impacting on
the quality of the chocolate. If it can, lean production could
enhance the profit margin, providing the company with a
cheap source of finance which it may use to further enhance
its competitive advantage.

(x0)
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Mark

Knowledge 2

Knowledge/understanding: up to 2 marks for, eg
« output per person/machine (1) per period of time (1)

@
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Answer

Mark

Knowledge 1, Application 2, Analysis 1
Knowledge: 1 mark for knowing what is meant by waste
minimisation, e.g.
« Producing goods and services at a given quality using as few
resources as possible/identification of an impact of waste
minimisation.

Application: up to 2 marks for contextualised examples, e.g.
« Could lead to greater levels of efficiency in the production of
trench coats.
« Could lead to less fabric/textiles needing to be ordered.
« Could lead to less faulty trench coats.

Analysis: 1 mark for explaining why the above would affect
Burberry plc, e.g.
« This could lead to falling average costs leading to higher
profit margins.
« This could provide a competitive advantage when the next
season’s clothing range is released.

)
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Answer Mark

Knowledge 2
Knowledge/understanding: for, e.g.
« Stock are items held by the business for future sale/processing (1)

such as raw materials/work in progress (WIP)/finished products
. @
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Extract B
World sugar price rises

Index of world sugar price March 2015 - March 2016 (March 2015 = 100)

120 T
117
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110 7

105

100
100 B

Index

95 +

(Source: drawn using data from http/wwwimf.org/external/
np/res/commod/External_Dataxs)
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ExtractA
Kendal Mint Cake manufacturer to close

Cake manufacturer JE Wilson & Sons Ltd is to close after more than a century of
production. The company makes several products, but is most famous for making Kendal
Mint Cake, a sugar-based confectionery item flavoured with peppermint.

JE Wilson & Sons Ltd's move to a new purpose-built factory in 2013, designed to improve
efficiency, actually resulted in poor capacity utilisation. Trends in the wider confectionery
market, away from products with a high sugar content, have led to declining sales of
Kendal Mint Cake. This, together with the rise in the price of raw materials such as sugar,
led to the company making large losses. The move to the new factory also created
serious cash-flow problems for the company.

JE Wilson & Sons Ltd failed in February 2016.

(Source: adapted from © Telegraph Media Group Limited 2017)
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Extract B
Selected information from CMR Surgical Ltd's Statement of Financial Position (2017)

[
Non-current assets ‘ 10 637 000
Current assets ‘ 16 712 000
Current liabilities | @es2000
Non-current liabilties | 10207000
Inventory ‘ 584000

(Source adapted from: https:/beta.companieshouse.gov.uk/company/ 08863657 filing-history)
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Extract A

Cambridge Medical Robotics (CMR) Surgical Ltd secures funding deal
CMR Surgical Ltd is based in Cambridge, UK. In 2018, the company raised £75 million in
share capital to provide it with enough liquidity to complete the development and launch of
its new product - a robot called Versius.

CMR Surgical Ltd believes that Versius will change keyhole surgery forever. The robot helps
a surgeon use less physical effort to perform keyhole surgery on a patient in hospital.
Traditional keyhole surgery strains a surgeon's arms and hands. This results in surgeons
having to rest before they can perform another operation. CMR Surgical Ltd believes that
Versius will allow the productivity of surgeons to significantly improve.

CMR Surgical Ltd forecasts that once the Versius robot is ready for market, it can generate
£4billion in sales per year, rising to £20 billion by 2050. CMR Surgical Ltd believes its
product is unique.
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ExtractB

Selected information from Fevertree Drinks plc’s Statement of Comprehensive
Income (2016)

s
Revenue ‘ 102237354
Cost of sales ‘ (45815 263)
Other operating expenses ‘ (22049714)
Interest ‘ (70497)
Profit for the year (net profit) ‘ 34301880

(Source: adapted from http:/ffevertree1.d3r-cdn.comy/pdfs/
original/3094-fevertree-ar-2017-web-ready.pdf)
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ExtractA
Fevertree Drinks plc: A British success story

Fevertree sells 14 different premium drinks. Its most popular products are tonic water
and ginger ale. Each drink is made from the finest ingredients, such s quinine and
ginger, both of which are imported. In 2016, 44.7% of Fevertrees sales were made in the
UK with the remainder of sales from exports. The export market has grown by more than
40%since 2015.

Fevertree does not own any factories; it uses independent bottling and canning factories
in the UK to produce its drinks. Fevertree arrange for the ingredients and packaging
materials to arrive before the flow production process starts. Independent factories are
keen to accept Fevertree’s work since it improves their own margin of safety.

In 2014, Fevertree’s shares were floated on the stock market at £1.34 per share. This raised
£4 million of extra capital for the company. Since then, Fevertree’s share price has risen
by 1,646% to £23.40.

(Source: adapted from http/www.cityam.com/1415066650/fever-tree-shrugs-
‘market-woe-bigger-expected-float and http/fevertree1 d3r-cdn.
comlpdfs/original/3094-fevertree-ar-2017-web-ready.pdf)
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Extract D

Selected information from Brantano Ltd's Statement of Financial Position (2015)

£000s
Non-current assets 8502
Current liabilities 16536
Cash and cash equivalents 2343
Inventory 20250
Debtors 8154
Net assets 10577

(source: Crown copyright)
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Extract C
Brantano Ltd collapses

Brantano was a value footwear retailer that failed in March 2017. It had 73 stores across
the UK and sold shoe brands such as Reebok and Skechers. Increased competition in the
footwear market was one of the causes of the failure, as a wider range of shoes was being
sold by retailers and supermarkets, such as New Look and Sainsbury’s.

In the months before March 2017, Brantanos suppliers removed their trade credit facility
and insisted it paid cash for stock in advance of any delivery. This resulted in liquidity
problems and reduced Brantano's working capital. The removal of trade credit also forced
Brantano to rely on the remaining buffer stock held in its warehouse to supply its shops.

Following the UK’s decision to leave the European Union, economic uncertainty was also
blamed for the collapse of the company.

(Source: Copyright Guardian News & Media Ltd 2018)
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's Cacao Ltd’s 2016 Statement of Financial Position

e
Non-current assets ‘ 238294
Current assets ‘ 1177472
Current liabilities ‘ 445718
Non-current liabilities 125552
Inventory ‘ 666386

Net assets 844496

(Source: adapted from © Market Footprint Ltd)
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Extract C
Willie's Cacao Ltd

Willie's Cacao Ltd was founded in 1996 when Willie Harcourt-Cooze decided to buy a
cocoa farm in Venezuela. His aim was to produce the finest chocolate possible using only
the highest quality Criollo cocoa beans.

Once harvested, the cocoa beans are then transported to Wille's factory in East Devon
where they are turned into the highest quality chocolate products. The production
process is lengthy and capital intensive. The factory uses old-fashioned chocolate
manufacturing machinery, since Willie believes that it adds flavour to the chocolate.
Wherever possible, Willie uses lean production methods, providing they do not
‘compromise the taste of the product.

Willie's Cacao Ltd's chocolate products are sold to high-end retailers in the UK, such as
Waitrose and Selfridges. A Willie's Cacao 50g chocolate bar is sold at a price of £1.90,
whilst a 50g Cadbury’s Dairy Milk chocolate bar is sold at a price of 85p.

(Source: adapted from https://onthecocoatrail.com/2013/12/31/
willie-and-the-chocolate-factory/)




image12.png
Extract B
Selected information from The Posh Pasty Company’s budget, July 2015

Steak and stout pasty
()
‘ Budgeted sales revenue ‘ 12250 ‘
‘ Actual sales revenue ‘ 14370 ‘
‘ Budgeted total costs ‘ 4210 ‘
‘ Actual total costs ‘ 5890 ‘

(Source: interview with James Strawbridge 7/1/16)
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Extract A
The Posh Pasty Company

The Posh Pasty Company was set up in 2013 in the popular seaside town of Fowey by TV
chef James Strawbridge and his wife Holly. Capital was raised through the crowd funding
‘website www.crowdfunder.co.uk This enabled them to rent and equip a small factory.
‘The Posh Pasty Company uses the highest quality local ingredients to manufacture
several flavours of pasty. The pasties are sold and delivered to delicatessens and cafes
across southern England.

Batch production is used in the factory to manufacture the pasties. In 2015, capacity
utilisation was 92%. James and Holly regularly review the financial performance of each
variety of pasty, by examining historical figures for sales revenue and total cost.

This enables them to perform a variance analysis.

(Source: adapted from http://poshpasty.co/about-us/who-we-are/)
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Extract C
Selected information from Burberry plc’s 2015 statement of comprehensive income

\ -
‘ Revenue 25232 ‘
‘ Cost of sales (7577) ‘
‘ Other operating expenses (13252) ‘
‘ Operating profit 4403 ‘

(Source: adapted from http:/www burberryplc.com/documents/ar-1415/burberry_
financial_statements_2014_15.pdf)
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Extract D
Burberry plc proposes a new £50m factory in Leeds

Burberry plc is a luxury fashion company that produces and retails high-quality clothes,
leather goods and fashion accessories. These items are sold for premium prices, with

a typical Burberry trench coat selling for £1 500. From 2018, this product will be
manufactured in its new Leeds factory. This factory will replace two other factories

in Yorkshire and wil allow Burberry pic to improve productivity, resulting in waste
minimisation. Using the latest technology, the new factory will be able to increase trench
coat production by 300%.

The factory will use a Just in time (JIT) stock management system and will hold limited
buffer stocks of raw materials. Burberry plc also intends to improve the training of its staff
s that the effectiveness of its quality management increases. Burberry plc currently uses
quality assurance to ensure that its products meet customer expectations.

(Source: adapted from httpy/wwwitelegraph.co.uk/finance/newsbysector/
retailandconsumer/11973538/Burberry-backs-Brtain-by-opening-new-trench-coat factory-
in-Leeds htmi)
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Extract D
SuperGroup invests £5 million in a new UK distribution hub

SuperGroup Plc is the owner of fashion label Superdry. Superdry retails clothes aimed at
15-25 year olds. It sells premium, branded, high-fashion clothing through 338 of its own
stores spread across the UK and the rest of the world.

Superdry operates in a clothing retail market that is both dynamic and highly
competitive. In recent years it has expanded rapidly and now has a presence in
46 countries.

To respond to the growth in the demand for its clothes, SuperGroup Pic has invested £5
million in a new distribution hub in Burton on Trent. This has allowed the company to
operate a Just in Time (JIT) stock management system.

(Source: http:/annualreport2014.supergroup.co.uk/strategic-report/strategic-report)
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Extract C
Selected information from SuperGroup PIc’s Statement of Financial Position (2014)

‘ £millions
Non-current assets ‘ 147.7
Cash and cash equivalents ‘ 8.2
Inventory ‘ 778
Trade and other receivables ‘ 543
Current liabilities ‘ 731
Non-current liabilities ‘ 317

(Source: http://www supergroup.co.uk/investors/reports-and-publications/annuakreport-2014)
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Extract E
Global demand increases for McLaren Ltd's supercars

Increased demand for £1m supercars in Asia and the Middle East has allowed McLaren
Ltd to generate profits of £15m in 2015, an annual increase of 223%. McLaren Ltd makes
high-performance sports cars, which it sells to wealthy individuals across the world.

The company is based in Woking, Surrey and produces its cars in a high-technology
factory which resembles a hospital, due to the high levels of cleanliness.

Lean production methods are used in the factory and its aim is to produce the perfect
car with zero defects. Itis this commitment to quality and giving the customer what they
‘want which has allowed McLaren Ltd to gain a competitive advantage in the premium
sports car market.

(Source: adapted from http:/wwwithisismoney.co.uk/money/markets/article-3139313/

Petrolheads-spare-1m-spend-helped-McLaren-Automotive-post-pre-tax-profit-hike-233-
cent-15m htmi)




